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SEER S, R FESE . BRI . NEBE s R NEEBE
AE | fEo= A & =
b & 2t 2,447 | 14,152 5.8 2,447 | 13,188 5.4
Al # 1,735 | 5,484 3.2 1,735 4,725 2.7
B # 442 | 5,807 13.1 442 6,200 14.0
L. 4 | 270 ] 2,861  10.6 270 | 2,263 8.4
Mg E®YRT LAEHE 40 142 3.6 40 123 3.1
BREHSIRT®E - H #H 30 74 2.5 30 148 4.9
5 VA £ $H = Hn A 20 84 4.2 20 66 3.3
s B2 F ® # % ;ﬁﬁ 30 66 2.2 30 87 2.9
oy N o ¥ E & 20 121 6.1 20 97 4.9
2 | amm | BT By ¥ A 10 50 5.0 10 49 4.9
Va x Hn A 5 11 2.2 5 13 2.6
A it % Y 5 34 6.8 5 35 7.0
B CERRIER 4 "y E‘!‘aﬁ ] 5 2 24 5 2% 50
¥ M. 3 #y 5 23 4.6 5 22 4.4
% 7] Eis 170 617 3.6 170 665 3.9
% (FIRBEANTEE) 35 211 6.0 35 275 7.9
& & 205 828 4.0 205 940 4.6
3 | R 125 446 3.6 125 372 3.0
¥ | & — 30 336 11.2 30 288 9.6
R & 3t 155 782 5.0 155 660 4.3
w | pid — 155 538 3.5 155 369 2.4
¥ | #H — 25 487 19.5 25 390 15.6
ER & B 180 1,025 5.7 180 759 4.9
. FIE] — 185 540 2.9 185 337 1.8
% = B = = K 35 198 5.7 35 182 5.2
= #®%y (= = = 7 & & 15 83 5.5 15 60 4.0
# 7 B 50 281 5.6 50 242 48
& & 235 821 3.5 235 579 2.5
7 | i — 198 556 2.8 198 365 1.8
¥ | %Y — 18 224 12.4 18 70 3.9
il &' B 216 780 3.6 216 435 2.0
* = & 30 81 2.7 30 80 2.7
L] it} £ & 52 135 2.6 52 124 2.4
it = & 60 124 2.1 60 121 2.0
EOE-S S L = & 23 89 3.9 23 50 2.2
Hh BR = & 16 60 3.8 16 37 2.3
A L] 1k % & 23 75 3.3 23 56 2.4
iz /N & 204 564 2.8 204 468 2.3
% # E= & 10 147 14.7 10 173 17.3
R % i} = & 17 230 13.5 17 255 15.0
1t £ & 13 117 9.0 13 74 5.7
% & L = & 8 117 14.6 8 102 12.8
Hh Bk = & 4 44 11.0 4 23 5.8
A L 1k % ) 6 32 5.3 6 16 2.7
7] Gl 58 687 11.8 58 643 11.1
& & 262 | 1,251 4.8 262 1,111 4.2
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AE | fEo= A & =
Wi & F ®H L Z # 8 29 3.6 8 39 49
¥ Y XTI %2H 10 13 1.3 10 24 2.4
G 4 T 2 & 49 140 2.9 49 122 2.5
& % = & 21 89 4.2 21 102 49
# il E= # 35 68 1.9 35 78 2.2
g T ¥ # I Z # 33 47 1.4 33 85 2.6
A |15 ] T s # 24 125 5.2 24 172 7.2
BESETFVYXAT LTI %2H 21 85 4.0 21 103 4.9
Jita H 1k &% # 15 43 2.9 15 36 2.4
1t = T = & 8 23 2.9 8 19 2.4
~ 5 UV 7 1 L % # 10 16 1.6 10 20 2.0
it 2 N 4 F T % # 35 61 1.7 35 83 2.4
T 7 2t 269 739 2.7 269 883 3.3
% i & = H I % # 30 592 19.7 30 635 21.2
il W ¥E v 275 o L 2 H 19 197 10.4 19 169 8.9
% L4 T = & 76 727 9.6 76 763 10.0
=3 % £ # 6 411 68.5 6 449 74.8
R i = & 10 239 23.9 10 272 27.2
E F B B I % # 72 533 7.4 72 556 7.7
HH|F w T 2 & 53 | 1,245 23.5 53 1,249 23.6
ERXRETF AT L LT EH 44 438 10.0 44 538 12.2
i~ A 1t = # 52 687 13.2 52 793 15.3
1t 2 T 2 # 30 268 8.9 30 265 8.8
<~ 5 VUV 7 A I % # 30 249 8.3 30 247 8.2
I 2 N 4 F T 2 # 20 221 11.1 20 264 13.2
/N 3t 442 | 5,807 13.1 442 6,200 14.0
& B 711 | 6,546 9.2 711 7,083 10.0
w H £ B ®B Z #® 30 144 48 30 108 3.6
S £ M #B 5k ﬂ; %—é ﬂ 30 122 4.1 30 128 4.3
oM B B B ZF B 30 79 2.6 30 78 2.6
J) 7] Ei 90 345 3.8 90 314 3.5
% B A £ B ®B % #® 10 146 14.6 10 48 4.8
B Sl £ & # & i % # 10 107 10.7 10 74 7.4
oM B B B ZF B 10 86 8.6 10 58 5.8
N Hi 30 339 11.3 30 180 6.0
& 2t 120 684 5.7 120 494 4.1
BE | Fid | — 35 102 2.9 35 125 3.6
R & S 35 102 2.9 35 125 3.6
= g2 & 80 249 3.1 80 153 1.9
o J 2 I:‘H yﬁ#ﬁiﬁ%%ﬁz 15 74 4.9 15 49 3.3
= 7—va/%ﬂﬂf¥ﬁj£%%‘f& 15 43 2.9 15 47 3.1
2 /N i 110 366 3.3 110 249 2.3
5 U N v VHEZREZHRK 2 53 26.5 2 40 20.0
B [T VvarFR ELEREFER 2 47 23.5 2 42 21.0
7] Hi 4 100 25.0 4 82 20.5
& E3 114 466 4.1 114 331 2.9
E ﬁﬁﬂﬁ = 85 305 3.6 85 195 2.3
o % — 20 196 9.8 20 93 4.7
& 2 105 501 4.8 105 288 2.7
A e ] = # 20 73 3.7 20 80 4.0
% | RXRY P gy 5 5 m 25 81 3.2 25 79 3.2
Al E &£ B B2 =2 # 34 127 3.7 34 124 3.6
f A i B # 2 # 30 85 2.8 30 100 3.3
Hh & 2 109 366 3.4 109 383 3.5
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